

AFFINE-DERIVED 3-DESIGNS

A. N. BABIKER AND R. A. MALAIBARY

Received July 7, 2000; revised January 30, 2001

ABSTRACT. For any affine(or Hadamard) $3-(v, k, \lambda)$ design, four 3-designs are constructed. Namely a $3-(4\lambda + 4, \lambda + 1, \binom{\lambda}{2})$ design, a $3-(4\lambda + 4, 2\lambda + 2, \binom{2\lambda+1}{2})$ design, a $3-(4\lambda + 4, \lambda + 1, \binom{\lambda}{2})$ design and a $3-(4\lambda + 4, 3\lambda + 3, 3\binom{3\lambda+2}{2})$ design. Moreover necessary conditions for the existence of simple such designs, i.e., with no repeated blocks, are also given.

1. Preliminaries. Let t, v, k, λ be integers such that $t \geq 0, k, \lambda > 0$ and $v > k + 1$. A $t-(v, k, \lambda)$ design (or t -design) is an ordered pair of points and blocks (V, B) where (1) $|V| = v$, (2) B is a family of k -subsets of V , (3) every t -subset of V is contained in λ members of B .

A design will be called nontrivial if $t < k \leq v - 2$. Moreover a t -design is also an s -design for every $s \leq t$. We shall denote by λ_s the number of blocks of B containing each s -subset of V . Thus

$$(\Delta) \quad \lambda_s = \lambda \binom{v-s}{t-s} / \binom{k-s}{t-s}$$

see [2,7]. Let $r = \lambda_1$ and $b = \lambda_0 = |B|$. Then $bk = vr$.

An affine 3-design is a $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design. It is also called a Hadamard 3-design since it is an extension of a Hadamard $2-(4\lambda + 3, 2\lambda + 1, \lambda)$ design, see [2,4,7]. Using this the following properties of an affine 3-design (V, B) follow easily, see [2,7]: (i) $r = 4\lambda + 3$, (ii) $\lambda_2 = 2\lambda + 1$, (iii) $b = 8\lambda + 6$, (iv) for each block $a \in B$, its complement $a' = V - a$ is also a block of B , (v) $|a \cap c| = \lambda + 1$, for all $a, c \in B, c \neq a, a'$.

Finally let A_1, A_2, A_3 be any three subsets of a set A . By the Sieve Principle see [3]

$$(*) \quad |A_1 \cup A_2 \cup A_3| = |A_1| + |A_2| + |A_3| - |A_1 \cap A_2| - |A_1 \cap A_3| - |A_2 \cap A_3| + |A_1 \cap A_2 \cap A_3| \dots$$

2. Designs Constructions.

Theorem 1. Let (V, B) be an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design where $\lambda > 2$. If $B_1 = \{a - c : a, c \in B, c \neq a, a'\}$, then (V, B_1) is a $3-(4\lambda + 4, \lambda + 1, 2\binom{\lambda}{2})$ design.

Proof. Let $a - c \in B_1$. Hence

$$|a - c| = |a - a \cap c| = |a| - |a \cap c| = 2\lambda + 2 - \lambda - 1 = \lambda + 1,$$

which is independent of a, c . Now let $\{P, Q, S\}$ be any set of three points of V contained in $a - c \in B_1$. Therefore $\{P, Q, S\} \subseteq a$ and $\{P, Q, S\} \cap c = \emptyset$. Moreover there are λ choices of a . To find number of choices of c , let $l(P), l(Q), l(S)$ be the set of blocks of B containing

2000 *Mathematics Subject Classification.* 05B05, 05B30.

Key words and phrases. Affined-Derived, 3-Designs.

P, Q and S respectively. By the Sieve Principle (eqn.(*) above) and properties (i,ii), the number of blocks of B which contains at least one of P, Q and S is

$$\begin{aligned} |l(P) \cup l(Q) \cup l(S)| &= |l(P)| + |l(Q)| + |l(S)| - |l(P) \cap l(Q)| \\ &\quad - |l(P) \cap l(S)| - |l(Q) \cap l(S)| + |l(P) \cap l(Q) \cap l(S)| \\ &= 3r - 3\lambda_2 + \lambda. \end{aligned}$$

Using this and properties (i,ii,iii) therefore the number of blocks of B disjoint from $\{P, Q, S\}$ is

$$b - 3r + 3\lambda_2 - \lambda = 8\lambda + 6 - 12\lambda - 9 + 6\lambda + 3 - \lambda = \lambda.$$

Since $c \neq a'$, the number of choices of c is therefore $\lambda - 1$. Hence $\{P, Q, S\}$ is contained in $\lambda(\lambda - 1) = 2\binom{\lambda}{2}$ blocks of B_1 . Therefore (V, B_1) is a $3-(4\lambda + 4, \lambda + 1, 2\binom{\lambda}{2})$ design. Since $\lambda > 2$, then $3 < \lambda + 1 < 4\lambda + 4 - 2$ and hence design is not trivial.

Next we investigate repetition of blocks in (V, B_1)

Theorem 2. *Let (V, B) be an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design and a, a', c, c', d, d' be distinct blocks of B . Then*

- 1) $V = a \cup c \cup d$ iff $|a \cap c \cap d| = \lambda + 1$
- 2) If $|a \cap c \cap d| = \lambda + 1$ then λ is an odd integer

Proof. Suppose $V = a \cup c \cup d$. As before by Sieve Principle and property (v), we get

$$4\lambda + 4 = |V| = |a \cup c \cup d| = 3(2\lambda + 2) - 3(\lambda + 1) + |a \cap c \cap d|.$$

Simplifying it gives $|a \cup c \cup d| = \lambda + 1$. Conversely suppose $|a \cap c \cap d| = \lambda + 1$. By Sieve Principle and property (v) again

$$\begin{aligned} |a \cup c \cup d| &= 3(2\lambda + 2) - 3(\lambda + 1) + |a \cap c \cap d| = 3\lambda + 3 + \lambda + 1 \\ &= 4\lambda + 4 = |V|. \end{aligned}$$

Hence $V = a \cup c \cup d$.

- 2) Obviously $a \cap c, a \cap d, c \cap d \supseteq a \cap c \cap d$. By property (v), therefore

$$|a \cap c| = |a \cap d| = |c \cap d| = \lambda + 1 = |a \cap c \cap d|.$$

Using these relations we get $a \cap c = a \cap d = c \cap d = a \cap c \cap d$ and hence for any $f \in B - \{a, a', c, c', d, d'\}$, $f \cap a \cap c = f \cap a \cap d = f \cap c \cap d = f \cap a \cap c \cap d$. Let

$$(1) \quad |f \cap a \cap c| = |f \cap a \cap d| = |f \cap c \cap d| = |f \cap a \cap c \cap d| = i.$$

By part (1) of the theorem $V = a \cup c \cup d$ and therefore

$$\begin{aligned} 2\lambda + 2 = |f| &= |f \cap (a \cup c \cup d)| = |(f \cap a) \cup (f \cap c) \cup (f \cap d)| \\ &= |f \cap a| + |f \cap c| + |f \cap d| - |f \cap a \cap c| - |f \cap a \cap d| - |f \cap c \cap d| \\ &\quad + |f \cap a \cap c \cap d| = 3(\lambda + 1) - 2i, \end{aligned}$$

see eqn.(1). Therefore $i = \frac{\lambda+1}{2}$ and hence λ must be an odd integer.

Theorem 3. *Let (V, B) be an affine $3-(4\lambda+4, 2\lambda+2, \lambda)$ design. If λ is even, then (V, B_1) consists of two copies of a $3-(4\lambda+4, \lambda+1, \binom{\lambda}{2})$ design which has no repeated blocks.*

Proof. Let $a-c, d-e \in B_1$ where $\{a, c\} \neq \{d, e\}$ and such that $a-c = d-e (\neq \emptyset)$. Therefore $e \cap a - e \cap c = e \cap (a-c) = e \cap (d-e) = \emptyset$, which implies that $e \cap a \subseteq e \cap c$. Similarly $c \cap d \subseteq e \cap c$. Therefore

$$(1) \quad e \cap a, c \cap d \subseteq c \cap e$$

Since $a-c = d-e \neq \emptyset$, therefore $e \neq a, c'$ and $c \neq d$. By property (v) this implies that $|e \cap a|, |c \cap d| = 0$ or $\lambda+1$ and $|c \cap e| = \lambda+1$ or $2\lambda+2$. Equivalently this implies that: (i) Either $e = a'$ or $|e \cap a| = \lambda+1$, (ii) Either $d = c'$ or $|c \cap d| = \lambda+1$ and (iii) Either $c = e$ or $|c \cap e| = \lambda+1$. Using the above assumption that $a-c = d-e \neq \emptyset$, we investigate the various possibilities of (i,ii,iii) in the following cases: (1) $e = a', d = c' \in B$. Since $c' \neq a'$ therefore $c' - a' \in B_1$. Moreover $c' - a' = a - c$ and hence $a - c \in B_1$ is a repeated block of B_1 . (2) $e = a', |c \cap d| = \lambda+1$. Since $a-c \in B_1$ and $c' \in B$, therefore $|c \cap e| = |c \cap a'| = |c \cap a| = \lambda+1$, by property (v). This implies that $c \cap d = c \cap e$ since $c \cap d \subseteq c \cap e$, see eqn.(1) above. Therefore $c \cap d \cap e = c \cap e$ and consequently $|c \cap d \cap e| = |c \cap e| = \lambda+1$. Since $|c \cap e| = |c \cap d| = |d \cap e| = \lambda+1$, from above, therefore c, c', d, d', e, e' are distinct. By theorem 2 part 2 therefore λ is an odd integer. (3) $|e \cap a| = \lambda+1$ and $d = c'$. Since $d-e \in B_1$, therefore $|e \cap c'| = |e \cap d| = \lambda+1$ and hence $|e \cap c| = \lambda+1 = |e \cap a|$. By eqn.(1) $e \cap a \subseteq c \cap e$. Consequently $c \cap e = a \cap e$ which implies that $a \cap c \cap e = a \cap e$. Therefore $|a \cap c|, |c \cap e|, |a \cap e|, |a \cap c \cap e| = \lambda+1$ and hence a, a', c, c', e, e' are distinct. By Theorem 2 part 2 it follows that λ is an odd integer. (4) $|a \cap e| = |c \cap d| = \lambda+1$. By eqn.(1) and referring to (iii) of this proof this case splits into two parts as follows: I) $|c \cap e| = \lambda+1$. By eqn.(1) therefore $e \cap a = c \cap e = d \cap c$ which implies that $a \cap c \cap e = c \cap e$ and as in case (3) λ must be an odd integer. II) $c = e$. Therefore $d - c = d - e = a - c \in B_1$. This implies that

$$(2) \quad \emptyset = a' \cap (a-c) = a' \cap (d-c) = a' \cap d - a' \cap c.$$

It also implies that $d \neq a, a', c$, since we are investigating distinct repeated blocks. By eqn.(2) therefore $a' \cap d = a' \cap c$ and hence $a' \cap c \cap d = a' \cap c$. Moreover $|a' \cap d| = |a \cap d| = \lambda+1$, and $|a' \cap c| = |a \cap c| = \lambda+1$. Similarly as in case (3) λ must be an odd integer. Since λ is even, it follows by case (1) above that each block of B_1 is repeated once and therefore (V, B_1) consists of two copies of a $3-(4\lambda+4, \lambda+1, \binom{\lambda}{2})$ design which has no repeated blocks.

Corollary 1. *If there exists a Hadamard matrix of order $4(\lambda+1)$ for even $\lambda \geq 4$, then there exists a simple $3-(4\lambda+4, \lambda+1, \lambda(\lambda-1)/2)$ design.*

Remark 1. Corollary 1 is a corollary of Theorems 3 and 6.

Remark 2. If there exists a Hadamard matrix of order $4n$ for a positive integer n , then there exists an affine $3-(4n, 2n, n-1)$ design. It was conjectured by Hadamard [6] that there exists a Hadamard matrix of order $4n$ for any positive integer n . It is known (cf. Colbourn and Dinitz [5]) that (1) there exists a Hadamard matrix of order $4n$ for any positive integer n less than or equal to 107 and (2) there is no positive integer n such that the nonexistence of Hadamard matrices of order $4n$ is known and (3) there exists a Hadamard matrix of order $4n$ for infinitely many even integers n . Hence Corollary 1 gives a new series of simple 3-designs.

Theorem 4. *Let (V, B) be an affine $3-(4\lambda+4, 2\lambda+2, \lambda)$ design, If $B_2 = \{(a-c) \cup (c-a) : a, c \in B, c \neq a, a'\}$, then (V, B_2) is a $3-(4\lambda+4, 2\lambda+2, 2\binom{2\lambda+1}{2})$ design.*

Proof. Let $(a - c) \cup (c - a) \in B_2$. By Sieve Principle and property (v)

$$\begin{aligned} |(a - c) \cup (c - a)| &= |a - c| + |c - a| = |a| - |a \cap c| + |c| - |a \cap c| \\ &= 2(2\lambda + 2) - 2(\lambda + 1) = 2\lambda + 2, \end{aligned}$$

which is independent of a and c . Next let $\{P, Q, S\}$ be any set of three points of V contained in $(a - c) \cup (c - a) \in B_2$. There are two types of such block: (1) $\{P, Q, S\} \subseteq a$, $\{P, Q, S\} \cap c = \emptyset$. Hence $\{P, Q, S\} \subseteq a - c \in B_1$. By theorem 1 therefore $\{P, Q, S\}$ is contained in $\lambda(\lambda - 1)$ blocks of this type. (2) One block, a say, contains two points only, $\{P, Q\}$ say, and the other block c contains S only. Since the number of blocks of B which contain $\{P, Q, S\}$ is λ and the number of blocks which contain $\{P, Q\}$ is $\lambda_2 = 2\lambda + 1$ by property (ii), therefore there are $\lambda_2 - \lambda = \lambda + 1$ choices of a . Since each of $\{P, S\}, \{Q, S\}$ is on λ_2 blocks of B and $\{P, Q, S\}$ is on λ blocks, this implies that S is on

$$r - 2\lambda_2 + \lambda = 4\lambda + 3 - 2(2\lambda + 1) + \lambda = \lambda + 1,$$

blocks of B which do not contain $\{P, Q\}$; see properties above. Since $c \neq a'$ therefore the number of choices of c is $\lambda + 1 - 1 = \lambda$. Consequently the number of blocks $(a - c) \cup (c - a)$ such that a contains $\{P, Q\}$ only and c contains S only is $\lambda(\lambda + 1)$. Since $\{P, Q\}$ is one of three ways of choosing two points from $\{P, Q, S\}$, therefore the number of blocks of this type is $3\lambda(\lambda + 1)$. Combining the two counts in the two types implies that $\{P, Q, S\}$ is contained in

$$\lambda(\lambda - 1) + 3\lambda(\lambda + 1) = 4\lambda^2 + 2\lambda = 2 \binom{2\lambda + 1}{2}$$

blocks of B_2 . Therefore (V, B_2) is a $3-(4\lambda + 4, 2\lambda + 2, 2 \binom{2\lambda + 1}{2})$ design which is nontrivial since $3 < 2\lambda + 2 < 4\lambda + 4 - 2$.

Next we investigate repetition of blocks in B_2 .

Theorem 5. *Let (V, B) be an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design. If λ is even, then (V, B_2) consists of two copies of a $3-(4\lambda + 4, 2\lambda + 2, \binom{2\lambda + 1}{2})$ design which has no repeated blocks.*

Proof. Let $(a - c) \cup (c - a), (d - e) \cup (e - d)$ be any two blocks of B_2 , where $\{a, c\} \neq \{d, e\}$ and such that

$$(1) \quad (a - c) \cup (c - a) = (d - e) \cup (e - d)$$

$$\begin{aligned} a - c &= a \cap ((a - c) \cup (c - a)) = a \cap ((d - e) \cup (e - d)) = (a \cap (d - e)) \cup (a \cap (e - d)) \\ &= (a \cap d - a \cap e) \cup (a \cap e - a \cap d) = (a \cap d - a \cap d \cap e) \cup (a \cap e - a \cap d \cap e). \end{aligned}$$

Using this we get

$$\begin{aligned} \lambda + 1 &= |a \cap c'| = |a - c| = |(a \cap d - a \cap d \cap e) \cup (a \cap e - a \cap d \cap e)| \\ (2) \quad &= |a \cap d| - |a \cap d \cap e| + |a \cap e| - |a \cap d \cap e| = |a \cap d| + |a \cap e| - 2|a \cap d \cap e|. \end{aligned}$$

Since $\{a, c\} \neq \{d, e\}$ we can assume that $a \neq d, e$ and hence $|a \cap d|, |a \cap e| = 0$, or $\lambda + 1$, see property (v). If $|a \cap e| = |a \cap d| = \lambda + 1$, then substituting in eqn.(2) we get $|a \cap d \cap e| = \frac{1}{2}(\lambda + 1)$,

contradiction since λ is even. Therefore exactly one of $|a \cap e|$ and $|a \cap d|$ is equal to 0. If $|a \cap d| = 0$, then $d = a'$. Substituting in eqn.(1) we get $(a - c) \cup (c - a) = (a' - e) \cup (e - a')$. Using this equation as we did with eqn.(1) above we get

$$\begin{aligned} c - a &= c \cap ((a - c) \cup (c - a)) = c \cap ((a' - e) \cup (e - a')) \\ &= (c \cap a' - c \cap a' \cap e) \cup (c \cap e - c \cap a' \cap e). \end{aligned}$$

Similarly and as in eqn.(2) this gives

$$\lambda + 1 = |c - a| = |c \cap a'| + |c \cap e| - 2|c \cap a' \cap e| = \lambda + 1 + |c \cap e| - 2|c \cap a' \cap e|$$

since $c \neq a', a$. Therefore $|c \cap a' \cap e| = \frac{1}{2}|c \cap e|$. Since $|c \cap e| = 0$ or $\lambda + 1$ or $2\lambda + 2$, then $c = e'$ or $c \neq e, e'$ or $c = e$ respectively. Therefore we have three cases to consider: (i) If $c = e'$ then $e = c'$. Moreover $d = a'$, from above. Using this we get

$$(a - c) \cup (c - a) = (a \cap c') \cup (c \cap a') = (c' - a') \cup (a' - c') = (d - e) \cup (e - d).$$

Since $(c' - a') \cup (a' - c') \in B_2$, therefore $(a - c) \cup (c - a)$ is a repeated block. (ii) If $c \neq e, e'$, therefore $|c \cap e| = \lambda + 1$. Since $|c \cap a' \cap e| = \frac{1}{2}|c \cap e|$ from above, therefore $|c \cap a' \cap e| = \frac{1}{2}(\lambda + 1)$. Contradiction since λ is even. (iii) If $c = e$ then by substituting in eqn.(1) we get $(a - c) \cup (c - a) = (a' - c) \cup (c - a')$, since $d = a'$ from above. Contradiction, since the two sides of this equation are non empty and have no common points. Therefore by case (i) above each block of B_2 is repeated once and therefore (V, B_2) consists of two copies of a $3-(4\lambda + 4, 2\lambda + 2, \binom{2\lambda+1}{2})$ design which has no repeated blocks.

Corollary 2. *If there exists a Hadamard matrix of order $4(\lambda + 1)$ for even $\lambda \geq 4$, then there exists a simple $3-(4\lambda + 4, 2\lambda + 2, \lambda(2\lambda + 1))$ design.*

Remark 3. Corollary 2 gives a new series of simple 3-designs.

Theorem 6. *Let (V, B) be an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design. If $B_3 = \{a \cap c : a, c \in B, c \neq a, a'\}$ and $\lambda > 2$, then (V, B_3) is a $3-(4\lambda + 4, \lambda + 1, \binom{\lambda}{2})$ design which has no repeated blocks if λ is even.*

Proof. Let $a \cap c \in B_3$, then by property (v) $|a \cap c| = \lambda + 1$ which is independent of a and c . Let $\{P, Q, S\}$ be any set of three points of V . Since there are λ blocks of B containing it, it follows that the number of blocks $a \cap c \in B_3$ which contain it is $\binom{\lambda}{2}$. Therefore (V, B_3) is a $3-(4\lambda + 4, \lambda + 1, \binom{\lambda}{2})$ design which is not trivial since $3 < \lambda + 1 < 4\lambda + 4 - 2$. Let $a \cap c, d \cap e \in B_3$ where $\{a, c\} \neq \{d, e\}$ and such that $a \cap c = d \cap e$. Therefore $a \cap c \cap d = d \cap e$ and $|a \cap c \cap d| = |d \cap e| = \lambda + 1$. Since $\{a, c\} \neq \{d, e\}$ assume that $d \neq a, c$. Therefore a, a', c, c', d, d' are distinct. By theorem 2, λ must be odd. Contradiction since λ is even. Therefore (V, B_3) has no repeated blocks.

Remark 4. By Corollary 1 and Remarks 1 and 2 above theorem 6 gives a new series of simple 3- designs.

Theorem 7. *Let (V, B) be an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ design. If $B_4 = \{a \cup c : a, c \in B, c \neq a, a'\}$, then (V, B_4) is a $3-(4\lambda + 4, 3\lambda + 3, 3\binom{3\lambda+2}{2})$ design which has no repeated blocks if λ is even.*

Proof. Let $a \cup c \in B_4$. Hence $|a \cup c| = |a| + |c| - |a \cap c| = 4\lambda + 4 - \lambda - 1 = 3\lambda + 3$ which is independent of a and c . For any $a, c \in B, (a \cup c)' = a' \cap c' \in B_3$, see theorem 6 and

property (iv) above. Conversely for any $a \cap c \in B_3$, $(a \cap c)' = a' \cup c' \in B_4$. This implies that $B_4 = \{a' : a \in B_3\}$. Let $\{P, Q, S\}$ be any set of three points of V and $l(P), l(Q)$ and $l(S)$ be the set of blocks of B_3 containing P, Q and S respectively. By the Sieve Principle the number of blocks of B_3 which contains at least one of P, Q and S is equal to

$$(1) \quad |l(P) \cup l(Q) \cup l(S)| = 3r - 3\lambda_2 + \binom{\lambda}{2},$$

where r and λ_2 here are the blocks of B_3 which contain each point and each two points of V respectively. By eqn. (Δ) above $r = \frac{1}{2}(4\lambda + 3)(4\lambda + 2)$ and $\lambda_2 = \frac{1}{2}\lambda(4\lambda + 2)$. Using the relation $bk = vr$ for the design (V, B_3) we get $b(\lambda + 1) = (4\lambda + 4)r$ which implies that $b = 4r = 2(4\lambda + 3)(4\lambda + 2)$. Using eqn. (1) above the number of blocks of B_3 disjoint from $\{P, Q, S\}$ is therefore equal to $b - 3r + 3\lambda_2 - \binom{\lambda}{2}$. Since $B_4 = \{a' : a \in B_3\}$ therefore $\{P, Q, S\}$ is contained in $b - 3r + 3\lambda_2 - \binom{\lambda}{2}$ blocks of B_4 . Substituting for b, r and λ_2 this number is equal to

$$\begin{aligned} b - 3r + 3\lambda_2 - \binom{\lambda}{2} &= 2(4\lambda + 3)(4\lambda + 2) - \frac{3}{2}(4\lambda + 3)(4\lambda + 2) \\ &\quad + \frac{3}{2}\lambda(4\lambda + 2) - \frac{1}{2}\lambda(\lambda - 1) \\ &= 3\binom{3\lambda + 2}{2}. \end{aligned}$$

Hence (V, B_4) is a $3-(4\lambda + 4, 3\lambda + 3, 3\binom{3\lambda + 2}{2})$ design. Since λ is even, therefore B_3 has no repeated blocks by theorem 6 and hence B_4 has not repeated blocks as $B_4 = \{a' : a \in B_3\}$.

Remark 5. Using the points and blocks of an affine $3-(4\lambda + 4, 2\lambda + 2, \lambda)$ Cameron has constructed a 2-design see [4].

Remark 6. Although we have focused on affine 3-designs only, yet our methods may apply for any affine design. In fact it applies to any symmetric design.

Finally we would like to thank the referee for his valuable comments and suggestions.

REFERENCES

- [1] Alltop, W. O. Extending t -designs, Journal of Combinatorial theory (A)18, 177-186, 1975.
- [2] Beth, Th. Jungnickel, D. Lenz, H. Design Theory, Wissenschaftsverlag Bibliographisches Institut 1985.
- [3] Biggs, N. L. Discrete Mathematics, Clarendon Press, Oxford, 1985.
- [4] Cameron P. J. Extending Symmetric Designs, Journal of Combinatorial Theory (A) 14, 215-220, 1971.
- [5] Colbourn, C. J., Dinitz, J. H., The CRC Handbook of Combinatorial Designs, CRC Press, New York, 1996.
- [6] Hadamard, J., Résolution d'une question relative aux déterminants, Bull. Sciences Math. 17 (1893), 240-246.
- [7] Hughes, D. R., Piper, F. C. Design Theory, Cambridge University Press, 1985.

DEPARTMENT OF MATHEMATICAL FACULTY OF P.O. BOX. 80203, KING ABDULAZIZ UNIVERSITY, JEDDASH 21589, KINGDOM OF SAUDI ARABIA.